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5. llm ——— = © = O
0 B —41+3 5 o4z

(correct)

r—3
3 — 9z

6. The number of discontinuity points of the function f(z) = is

(correct)
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7. The graph of the function f(z) = 3z% — z* has horizontal tangent lines at

(a) =0 and z = 2 (correct)
(b)) z=0, 2=-1 and z=2

)
)
(c)z=1 and = =2
)
)

(d) z=0 and z = -2

() =0 and z =1
! o
St lar fo @35, 1-2 f oy = Gx-3x%
- > byx-3x =0
3 (2-x)= ©

l
rf(;ﬂ_—:O

)(:O/ = A

8. If the manufacturer’s average-cost equation is given by
¢ = 0.00002¢> — 0.01q + 6 + 2—02@. Then the marginal cost when ¢ = 100, is

(a) 4.6 (correct)
(b) 6.6 C=9T = - 000029 —0.0l9”+ 69 ¢ 20000
(c) 3.6
(d) 4.4 _.e(iz O-ooooéclz—o‘olc;_(_ A
() 8.6 1
,Ql—?- = O\OOOOé(lOt)}z — o\oz{lod\ + 6
QU -2 g

Ci,:]oo
= 4.6
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9. The equation of the tangent line of the graph of the function, f(z) = 3z — 4/ at

xr =4,18
(a) y=2x—4 (correct)
(b) y = 2o +4 i = d sy ()
(c) y=—2x—4 |
d) y=—z+8 foo= 3= F=
X ‘
(€ y== )

S‘u‘ ‘:‘.’f’ — - Z_ _
< 0")-—3-3:1}:’-9—

H‘f @\m‘riac\ O,Q ‘he l’v\fnenjt lne at (4,"‘\ 5
Y-u = 2UX-H)

> g = 2t}

10. If the demand equation for manufacturer’s product is given by p = '1[]0%. Then the
marginal revenue when g = 45, is

(a) 2 (correct)
(b) 3 r= Pg = leoo9
© 3 4+5
(@ 4 de o (@as) (oo = kel = Booo
e 2
() 5 g G (1¢9)
i [=) 18 — Hooo _ 2
By g e

q ;l/g .2500
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11. The slope of the curve y = (x2 — 3z + 1)3 at x =1, 1s

(a) -3 (correct)
(b) 3 dy = 303 3a+l) (2x-
(c) 6 Ax * ) (x-2)
(d) —6 -
o) —2 dy | = 302 (2-3)
JX
; | X=|
8\*0'\'\,)4( \'O @54; “.5
= - -3
12. If f(z) = e+ 2¢ —2eV*+Inz, then f'(1) =
(a) 1 ' ' (correct)
(b) 2e foo=oxe X -2 (NS, L
(c) 3e (9‘&_ - %
@ 1-¢ Fly= e-e+|
(e) 1+e
= |

Simlar Yo @5.12.2
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13. The slope of the tangent line of the curve z? + y* = 25 at the point (3,4) is

(a) _Z ’ (correct)
2 _
) Z 22X+ A3 Y= o
© 3 ye= oK
(d) 1 r
(e) —1 U = —’3,,,
(z) 1

gimﬂar “o @\ ~12-YH
e

14. A consumption function is given by C' = 6 + %I — —\3@ The marginal propensity to

save when [ = 25 is

17
(a) 6_0 (correct)
43 C _ > _ \ ,‘/
) 5 “'o(\;“{ -3 <zu’~;>
47
(c) 60
27 AC & - J /\-(.L- e ié-
(d) 66 j{ 1= 25 Y 3 \lo 60
33
(e) 50
Mafamf)\ﬂ ’Priy\De(Silra bo Sav€ = l—- %%_
o
ST
P
= 17
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15. If the position function of an object moving along a straight line is given by
s = f(t) = —3t2+ 2t +1, where t is in seconds and s is in meters, then the average
velocity over the interval [1,2] is

(a) =7 (correct)
(b) —10 Ho‘v@(acib = §(2X — 'g(q

(c) —4 a2

(d) -8

(e) —6 = -t -°

\
g\»m\ 1284 %O @'3/ H%
/’l’//—
-7



